Quiz 5                                                      Mark……..

                  Name_________________

1. An object falls with terminal speed. Does its mechanical energy conserve during the fall? Make an energy balance for the process.                            20 points
2. What power does an elevator need, to lift  a  weight of 1000 kg  

     with a speed of 5m/s. (g=10m/s, and the mass of the empty    

     elevator is 500 kg)                                     40 points

3. A truck is going down a hill when the breaks fail. Presuming no

air resistance and no friction acting on the truck, calculate its final kinetic energy at the bottom of the hill, if we know that the speed of the truck before the break failed was 10m/s and its height from the bottom of the hill at that moment was 200m. (g=10m/s, and the mass of the truck is 10 000 kg)                                                     

                                                                  40 points

